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Using EViews 3.1

These notes are written to help you learn the basics of EViews.  They are written so that you can complete a session of EViews by simply working through them.  In here you will find directions for the initial steps you need to perform in assignment #1.

The commands that you are to issue in EViews will be listed here in capital letters.  Always press on the return key (“Enter”, () after typing these commands.  For some commands EViews will require additional information and will open a window in which you will be asked to provide more information.  Your responses should always be followed either by a return or clicking on the appropriate option.

First, you need to obtain the data to be used.  You might find it useful to create a folder (or folders) dedicated for the course material, and store the data there.

By now, you should already have obtained the data that you will be using for assignment #1.  If not – go back to the “Accessing Course Information on the Web” handout to find the URL for the course web page.

The data used in assignment #1 are stored in an EViews database file.  This is only one way in which you can load data into your analysis in EViews.  (In later assignments, I will give you work files with the data already loaded, and they will have a “.wf1” suffix).  

It is now time to start an EViews session.  You will find an EViews icon in the “GSIA Apps” folder.  After launching the program, the EViews window will appear on the screen.  This window has the following main areas (from top to bottom):

· Main menu:

Many of EViews options can be accessed through this menu.

· Command window:

This is where you can type direct EViews commands.  A command is executed as soon as you hit “Enter”.

· Work area:

EViews will display various windows in this area, these are called object windows.  Note that each of these windows will typically have an additional menu of its own (a set of buttons at the top) that includes access to commands that are specific for the object. 

· Status line

This line contains different information, including the default directory, the default database and the current workfile.

You are now going to create a workfile in which you will perform your analysis.  In the command line, enter 

CREATE (
In the dialog box, click on MONTHLY.  Next click in the box below “start date” and enter  1926.01, then tab over to the box below “end date” and enter  1998.12.  Then click OK. 

You have just told EViews to create a workfile for monthly data with observations beginning in January 1926 and ending in December 1998.

A window will come up with its own menu bar.  The window will contain a list of the variables in the workfile.  In the list of variables you will see two that appear in any EViews workfile – a coefficient vector C (with an ( in front of it) and the series RESID.

Next you will load the variables you will need for the assignment into the workfile.  Click on the FETCH button (on the menu of the workfile window).  In the window that opens fill in the following details:

· Fetch from:

EViews Database

· Database Path:
Click on the BROWSE button and locate the file you’ve downloaded (“Asset_Returns_DB.edb”).

· Objects to Fetch:
Type in the names of the objects (series) you want to fetch [Important note: do not use commas to separate names].  

You should have a list of six series:  The three series that you were assigned (you should have these names written down if you went through the “Description Stock and Bond Data” handout), and the three following series:  IBM, TBILL (Treasury Bill rate), and VWRM (Value Weighted Return on the Market).

Then click OK.

It's a good idea at this point to save a work file containing the variables you've entered, so click on SAVE.  Choose the folder in which you wish to save the file.  Then, type the name you have chosen for your file (e.g., “return project”) and click OK.  If you’d like, you can ask EViews to use the folder (directory) as the default one – click on the “Update default directory” option on the bottom-left portion of the dialog window.

To have the data series listed on the screen, issue the following command:

SHOW IBM TBILL VWRM (
Another window will appear with the three variables displayed as columns.  After looking at the data, close the window but do not bother to save it.

Let's now choose the data for recent years for more investigation.  To choose the data from January 1981 through December 1998, issue the following command:

SMPL 1981.01 1998.12

Notice that the window lists both the range of the entire data set and the sample observations that we just chose.  If we wish to change to a different sample from the range, we could simply issue another SMPL command with the range of interest.

Now let's plot the data for IBM and VWRM over time.  Issue the following command:

PLOT IBM VWRM
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At this point, you could add text to this graph, name it for later use, print it, etc.  You'll want to use these options in the future.  For now, we'll move on without saving this graph, so close the window containing the graph.  

Next, let's look at a scatter plot of the returns on IBM relative to the returns on the market:

SCAT IBM VWRM

The output window for this command will show the following graph:
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You are offered some choices in a menu bar including printing out the scatter plot.  We'll move on without saving, so close the window. 

To generate a histogram for IBM, issue the command:

HIST IBM
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Once again you will see a menu bar with a number of options including one to print out the histogram, and once again we'll move on.

You can obtain summary information about means, standard deviations, and correlations of an arbitrary number of data series.  To obtain means and other summary statistics, issue the command:

STATS IBM VWRM TBILL

The top of the output window for this command will show:

	
	IBM
	VWRM
	TBILL

	 Mean
	0.010559
	 0.013120
	 0.005333


This tells us that the mean monthly return on IBM during this period was 1.06%, the mean market return was 1.31%, and the mean treasure bill return was 0.53%.  Close the output window.  (From now on, I'll assume that you'll close each new window that opens without mentioning it).  

To see the correlations, issue the command:

COR IBM VWRM TBILL

The output window for this command will show:

	
	IBM
	VWRM
	TBILL

	IBM
	1.000000
	 0.471449
	-0.033101

	VWRM
	 0.471449
	 1.000000
	-0.083193

	TBILL
	-0.033101
	-0.083193
	 1.000000


Here we see, for example, that the correlation between the return on IBM and the return on the market was .471.  

To see the covariances, issue the command:

COV IBM VWRM TBILL

The output window for this command will show:

	
	IBM
	VWRM
	TBILL

	IBM
	0.005400
	 0.001491
	-5.49E-06

	VWRM
	 0.001491
	 0.001852
	-8.09E-06

	TBILL
	-5.49E-06
	-8.09E-06
	 5.10E-06


Next, let's generate excess return series like those you'll need for assignment #1.  

We'll generate these variables for our entire data series, so enter:

SMPL 1926.01 1998.12

To generate the excess returns for the market and for IBM, issue:

GENR XIBM=IBM-TBILL

GENR XVWRM=VWRM-TBILL

Next, let's run a regression similar to those that you will do for assignment #1.  As an example, we will use the period of January 1970 through December 1998.  

First choose the sample:

SMPL 1970.01 1998.12

We want to regress excess returns of IBM against excess returns on the market including a constant.  Run the regression using the LS (least squares) command:

LS XIBM C XVWRM

The results should come up very quickly in a window with a menu bar across the top.  The results of this regression appear on the next page.

If you not expect to use the excess return variables and do not wish to retain them in the workfile, you can use the following equivalent command (which includes the algebraic expressions used above):

LS (IBM–TBILL) C (VWRM–TBILL)

The constant is built into EViews and is named C (it is a reserved word so you cannot use C for anything else or EViews give an error message).  

	Dependent Variable: XIBM

	Method: Least Squares

	Sample: 1970:01 1998:12

	Included observations: 348

	Variable
	Coefficient
	Std. Error
	t-Statistic
	Prob.  

	C
	-0.003183
	0.003103
	-1.025990
	0.3056

	XVWRM
	0.832031
	0.066991
	12.41997
	0.0000

	R-squared
	0.308354
	    Mean dependent var
	0.001647

	Adjusted R-squared
	0.306355
	    S.D. dependent var
	0.068946

	S.E. of regression
	0.057422
	    Akaike info criterion
	-2.871057

	Sum squared resid
	1.140851
	    Schwarz criterion
	-2.848918

	Log likelihood
	501.5639
	    F-statistic
	154.2556

	Durbin-Watson stat
	1.902637
	    Prob(F-statistic)
	0.000000


You can click on PRINT to print the regression results.  Clicking on RESIDS shows you a plot of the residuals.  Clicking on STATS restores the regression to the screen.  Note that the residuals from the last regression are stored in a series called RESID.  If you want to keep them longer, you can generate a new series of your own.  Hence, you might issue the command:

GENR IBMRES=RESID

This stores the residuals in a series called IBMRES.  

Let's graph these residuals against the excess return on the market:

SCAT IBMRES XVWRM
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To run a separate regression for a different time period, just use the SMPL command to choose the period of interest, and then enter the appropriate regression command.  

By the way, you can scroll up and down in the command window to browse or reuse previous commands.  To re-issue a command – position the cursor on the command line and press “Enter”.  You can also edit the command before you re‑issue it.

You can do algebraic manipulations to create new series with the GENR command.  For example, you could obtain the square of the treasury bill rate using the command:

GENR TBILLSQ=TBILL^2

This creates a variable, which is the square of the TBILL rate.  To delete this variable from the work file, issue:

D TBILLSQ

Now, to end the session, click on the file menu and choose exit.  If you have made any changes to the workfile since you previously saved the data, a dialog box will come up warning you that your workfile has been changed.  To save the changes – click on "yes" and you will then exit EViews.

